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Power Crisis Quick Conversion Sheet
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the same as 1/24kW

often used for ‘capacity’ of a power facility

GW / UK

2000

r 1500

— 1000
— 900
— 800

— 700
— 600

— 500
— 400

— 300
F 250

— 200

r 150

— 100
— 90
— 80
— 70
— 60

— 50

— 30
F 25

I
B Ul O =1 0o

F 2.5

GW / UK

often used for actual energy output
‘one million tonnes of oil equivalent’
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‘UK’ = 60 million people
USA: 300kWh/d each

Europe:

120kWh/d each



Carbon Crisis Quick Conversion Sheet

kWh/d each kWh(®)/d each ~ tCO2/y each Mt CO./y / UK MtC/y / UK  GtC/y / World
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kWh/d each kWh(®)/d each ~ tCO2/y each Mt CO2/y / UK MtC/y / UK GtC/y / World

1kWh/d thermal energy exchange rate:
1kWh < 250g of CO4 (oil, petrol)
1kWh(®) /d  electrical energy is more costly:
1kWh(®) « 445 g of CO, (gas)
tCOs  tonne of COy
MtCOs million tonnes of COq
GtCOy  billion tonnes of COo

‘UK’ = 60 million people
‘World” = 6 billion people
UK: 150MtC per year (2000)
USA: 20tCO3/y each (1.5 GtC/y total)
World: 7 GtC per year (2005)
To avoid 2 C global warming, need < 2-3 GtC/y
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